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: 7 / H Value Quenching Condition

0.20  Poor oil quench—no agitation
30 / 402 0.35 Good oil quench—moderate agitation

7 |
7 0.50 Very good oil quench—good agitation
/ 0.70  Strong oil quench—violent agitation
S

1.00  Poor water quench—no agitation
/ o4 1.50  Very good water quench—strong agitation
/ ; 2,00 Brine quench—no agitation
5.00 Brine quench—violent agitation
0 Ideal quench
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constant temperature, 0°C
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(A) B4 kg Rk

(B) B 15 kg

(C) B4 = kentiff %1 (AVs) <30

(D) B4 = ket %1 (AVery) /]300

(AD) 52 -~ Which of the following statements are correct?

(A) The enthalpy of a compound is a state property and is therefore independent of the
method by which the compound is prepared.

(B) The enthalpy of a compound is not a state property and is therefore dependent on the
method by which the compound is prepared.

(C) For a reaction between chemical compounds the enthalpy change may be obtained as the
difference between the enthalpies of formation of the products and the enthalpies of
formation of the reactants, all not necessarily at the same temperature.

(D) For a reaction between chemical compounds the enthalpy change may be obtained as the
difference between the enthalpies of formation of the products and the enthalpies of

formation of the reactants, all at the same temperature.



